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in 44 EEHh = BT =iE FiE ZiE RFEX R
N A mE 430 1 248 54 22 )
F5NAE = 698 4 1,620 1,080 864 )
= ®mS 284 3 1,728 1,404 1,296 Y
LwA=< mE 24 1 432 351 351 Y
T DL (= 310 1 540 324 135 Y
LAX = 70 10 972 864 648 Y
GEREE mE 146 1 346 243 189 1)
MhAL& mE 100 5 1,728 1,706 1,663 )
MhALE = 200 5 1,674 1,620 724 )
AEF = 588 1 1,728 1,404 972 Y
T D EFE =) 27 1 324 0 252 )
HMA FFrl 3,100 10 4,968 3,132 2,916 )
HMA mE 8,287 10 4,212 1,512 1,188 )
R ER A = 391 1 216 189 162 §eA))
=AM =) 51 4 594 540 346 i)
Z DD Fh ‘e 1,150 1 86 76 70 )
XEhE = 640 10 2,376 1,728 1,501 Y
W52 =) 176 0 854 409 216 )
F—4 =S 70 1 318 0 294 1)
i 4 EEHh = BT SiE FiE =il RFEXS
-UL\CA ‘e 3,586 10 1,080 594 540 Hxt
-L\CA BRE 255 10 360 0 288 Hxt
FEIZALA tiEE 130 10 2,160 0 2,052 Hxt
FEIZALA K& 140 10 2,052 1,080 1,080 FE
FEIZALA K& 70 10 0 2,052 0 GizEol
FEIZALA HEX 810 10 2,052 1,836 1,836 A xt
FEIZALA th 50 10 1,080 0 972 A xt
Z1ES dtiEE 60 1 238 0 205 B>t
NAZA ‘e 303 1 810 410 259 A xt
NAZA ‘e 10 1 0 486 0 GizEol
[E<ELY ‘e 2,520 15 756 540 324 A xt
FrRy =) 6,650 10 756 486 432 A xt
h T N=) 18 3 0 2,430 0 GizEol
= B 9 1 0 468 0 A xt
=K EmE 39 1 252 0 216 B>t
= Xy 33 1 0 468 0 A xt
= th 18 1 0 288 0 A xt
HDIE =F 3 1 2,376 0 2,160 B>t
AHDIE =) 27 1 1,728 432 432 A xt
LwAEL =] 42 1 432 432 324 B xt
2 5 = 90 1 778 734 734 B>t
ZTDhEE =] 90 1 270 0 81 HExt
+)L1) Eedea) 50 1 400 0 356 B>t
T RAINSHR A¥ia 6 1 0 1,296 0 B>t
J0Oyal)— =] 468 10 2,520 1,584 1,440 A xt
LAX =] 420 10 1512 1,080 540 B xt
LAX =] 48 10 2,160 0 1,890 B xt
T 12 22 1 1,037 0 518 A xt
N\t!) Eedea) 5 1 3,240 0 2,970 B>t
H=——LAX =] 92 4 1,296 648 486 A xt
H=——LA2X =] 132 4 864 486 486 A xt
H—_—LAR 1 16 4 0 1,080 0 A%t
5l = 715 5 1,080 1,080 864 RE %of
B I ZDHhst 50 10 0 1,944 0 RE %of
kR mE 260 5 1,080 0 972 RE %of
~Tk 5% [ 10 4 0 9,504 0 EES)
~Tk 12 ] 24 4 0 1,134 0 R it




~Tk HEK 12 4 0 1,296 0 GizEol
E—<> =0 18 1 0 252 0 GizEol
LLES =0 9 1 0 1,620 0 GizEol
el g Far 30 0 0 259 0 A xt
g S EE 66 0 130 130 108 GRS
S=k<h I 261 0 86 0 65 GizEol
54 S E % 24 0 0 156 0 B xt
54 S BEA 126 0 0 94 0 B xt
=PLWAITFA ‘e 5 1 0 366 0 GizEol
=POVAIFA BRE 6 1 0 972 0 GizEol
EZAED BERE 23 1 1,080 756 756 GizEol
MhALE TR 50 5 0 1512 0 GizEol
MhALL R 15 5 0 1,728 0 GEES
MhALL EE 95 5 0 1,566 0 GEES
MhALk EE 25 5 1,404 0 972 GEES
(EFh Lk dtiEE 1,510 10 1,836 1,458 1,404 GizEol
(L tiEE 190 10 0 1512 0 GizEol
“-FhE tiEE 40 20 0 1,296 0 GizEol
f-FEh=E dtiEE 1,400 20 1,620 0 1512 GizEol
[CAIZL a5 3 1 3,780 0 3,564 GizEol
L&OH =0 23 1 918 783 783 B>t
L&OH i 40 1 0 392 0 B>t
PEIVE] A 2 1 0 3,780 0 GizEol
PEIVE] A 4 1 0 4,860 0 GizEol
DEWIE EE 2 1 3,887 3,672 3,672 kS
PEIVE] = 6 1 0 1,836 0 GizEol
PEIVE] Xy 33 1 14,040 594 594 GizEol
PEIVE] xXn 2 1 0 12,960 0 GizEol
DEMEE 5 20 1 0 540 0 HExt
LHL ¥ 40 1 0 626 0 B>t
LoHL I 27 1 950 0 475 GizEol
LHL 2] 36 1 0 486 0 GizEol
HELLVE=IT =) 1,867 0 135 89 86 GizEo]
F£DO7-1F kL3 8 1 0 9,504 0 B>t
ZDELET = 12 1 0 340 0 GizEol
ZDED 2 4 1 0 1,383 0 B>t
Z D EFE & 0 1 0 0 0 GizEo]
FEMI G tiEE 10 1 0 583 0 GizEol
FEMI G =) 11 1 0 1,020 0 GizEo]
FEMI G th 9 1 0 432 0 GizEo]
B Y 0 12 1 0 369 0 A xt
B Y /I 96 1 342 0 306 GizEo]
B Y =) 0 1 0 0 0 GizEo]
B Y = 5 12 1 0 252 0 A xt
B Y Gl 6 1 0 270 0 B xt
AHDNA = 5,940 10 2,970 1512 1,404 icESH
X B8 = 30 1 0 756 0 B>t
Faky FFrL 30 1 1,080 1,044 972 B>t
Z Dth HE A mE 8 1 0 389 0 A xt
Z DA ZiE 106 1 1,548 540 540 GizEol
F & =F 20 1 0 378 0 B>t
5 C 7% 280 10 7,020 4536 4,536 icESH
5 C 5% 1,320 10 3,780 3,078 3,078 icESH
A L =F 370 10 4860 3,996 3,996 B>t
A L £ 500 10 5,400 0 2,700 B>t
FaER L 500 1 583 562 432 A xt
[ ET) 244 1 1,404 1,215 1,161 RE %of
EAH B H 190 4 1,555 1,080 1,080 FE ot
KEIME = 160 10 1,944 1,609 1,328 RE %of
FDIAES EH 14 1 2,006 0 1,851 EES)
FDAES fif] Ly 10 1 0 3,348 0 RE




ZDARES i L 10 1 1,836 0 1,555 GEES
W52 12 14 0 600 0 464 HExt
BEAOY = 54 9 7,560 0 7,020 A xt
ZzoADY RI& 32 1 878 0 648 HExt
*—4 mE 20 1 0 259 0 HExt
*—4 TR 4 1 0 900 0 HExt
*—4 —21—2 289 1 750 690 600 HExt
INTF 24YE 15,366 13 3,456 140 140 HExt
INTYT 24YE 10 1 0 324 0 GizEol
AL A —Zk 133 1 756 413 248 HExt
LEY F) 136 1 508 445 286 HExt
Z Db A & h F 71 1 9,504 151 151 GizEol
ZORMDEE =) 0 1 0 0 0 izES]
T iED 5 1 0 1,350 0 GizEol
fh EEHh = B =iE FiE =il RFEX D
= mE 50 3 0 1,814 0 Bk
PEIVE] ‘e 8 1 3,780 3,672 3,564 Bir
HELLV=IT mE 160 0 130 93 92 Bk
AEF EmE 48 1 1,620 972 756 irk
ZFDH D EmE 1,110 1 97 86 70 irk
PN (=) 710 10 2,160 1512 1,404 ir
ZDRES £ 18 1 0 1,697 0 irk
EEAOV = 81 9 0 7,236 0 Bk
BEAOY = 88 9 7,560 7,560 6,480 irk
ZDhADY = 99 1 600 600 540 irk
fh % EEHh = BT SiE FiE =il RFEX R
MhAL& (=) 5 5 0 756 0 SEH
FHhA ‘e 110 10 4536 3,780 2,916 FEH
XfiohE =) 10 10 0 1,188 0 FEH




